
























































amerec

AK 17, 20, 30, 3K20, 3K24, 3K28 & 3K36
System Installation and Service Instructions

Page 20

DIAGRAM 33 (AK/3K GENERATOR)

4211145 07-21-10




AK 17, 20, 30, 3K20, 3K24, 3K28 & 3K36
System Installation and Service Instructions

Page 21

PARTS LIST (AK GENERATOR)

|

PARTS AND/OR RETURNS

NUMBER |PART NAME DESCRIPTION
1 FRAME CHASSIS
2 TERMINAL POWER INPUT TERMINAL BLOCK
3 COVER FRONT WITH WD LABEL
4 COVER ELEMENT ACCESS
5 TANK TWO ELEMENTS
6 INSULATION BLANKET

17 BRACKET L BRACKET
8 NIPPLE DRAIN NIPPLE
9 TERMINAL OPTIONAL AUTO FLUSH TERMINAL BLOCK
11 CAP CAP, THREAD PROTECTOR
12 LABEL MODEL AND RATINGS
13 PROBE TRIPLE LEVEL
14 ELEMENT REPLACEMENT ELEMENT
15 VALVE WATER INLET
16 CLAMP SELF-TIGHTENING
17 HOSE WATER INLET
18 CLAMP AUGER
19 VALVE MANUAL DRAIN
20 GASKET ELEMENT ACCESS
21 BRACKET MOUNTING BRACKET
2 VALVE PRESSURE RELIEF
23 PCA PRINTED CIRCUIT ASSEMBLY, AK
24 LUG GROUND
28 BOLT 1/4-20 x 1/2"
29 WASHER 1/4" LOCK
33 CONTROL CONTROL HOUSING

HOUSING

34 CABLE CONTROL CABLE
35 SENSOR TEMPERATURE SENSOR (K30 & K60 ONLY)
36 CABLE TEMPERATURE SENSOR CABLE (K30 & K60 ONLY)
37 STEAM HEAD DISPERSION HEAD (NOT SHOWN)
38 PLACARD SAFETY (NOT SHOWN)
39 LABEL WIRE DIAGRAM

- {40 FUSES SLO-BLO (NOT-SHOWN)
41 FUSES 1A NON TIME DELAY
43 STANDOFF STAND OFF
44 COVERPLATE DECORATIVE CONTROL COVER PLATE
45 CONTROL R30K CONTROL
46 REMOTE CONTROL|K200i REMOTE CONTROL
47 REMOTE CONTROL|REMOTE CONTROL DOCK

DOCK

4211-145  07-21-10

oForassistance or parts ordering, please
contact your local AMEREC Dealer or
AMEREC at 1-800-331-0349. Please help
us to serve you better by:

1. Identifying the problem by using the
troubleshooting guide in this manual.

2. Read Number 12, the UL Ratings La-
bel, to obtain your unit's model and code
number.

3. When ordering parts, please provide
the number, description and quantity

" needed. When ordering wires or wire

assemblies, please describe the wires by
color, location and / or their connection
points.

4, Do not return any material to

AMEREC without first contacting
AMEREC for a Return Authorization Num-
ber. Freight must be prepaid to AMEREC.




amnerec

AK 17, 20, 30, 3K20, 3K24, 328 & 3K36
System Installation and Service Instructions

Page 22

DIAGRAM 34 (AG/3G GENERATOR)

4211-145  07-21-10




AK 17, 20, 30, 3K20, 3K24, 3K28 & 3K36

amerec . . . Page 23
N e by ooy Sysiem Installation and Service Instructions
| PARTS LIST (AG GENERATOR) | |_PARTS AND/OR RETURNS _ |

NUMBER|PART NAME  {DESCRIPTION
1 FRAME CHASSIS
2 TERMINAL POWER INPUT TERMINAL BLOCK
3 COVER FRONT WITH WD LABEL
4 COVER ELEMENT ACCESS
5 TANK TWO ELEMENTS
& INSULATION |BLANKET
7 BRACKET L BRACKET
8 NIPPLE DRAIN NIPPLE
9 TERMINAL OPTIONAL AUTO FLUSH TERMINAL BLOCK
11 CAP CAP, THREAD PROTECTOR
12 LABEL MODEL & RATINGS
13 PROBE TRIPLE LEVEL
14 ELEMENT REPLACEMENT ELEMENT
15 VALVE WATER INLET
16 CLAMP SELF-TIGHTENING
17 HOSE WATER INLET
18 CLAMP AUGER
19 VALVE MANUAL DRAIN
20 GASKET ELEMENT ACCESS
21 BRACKET MOUNTING BRACKET
22 VALVE PRESSURE RELIEF
23 PCA PRINTED CIRCUIT ASSEMBLY, AG
24 LUG GROUND
‘128 BOLT 1/4-20 x 112"
29 WASHER 1/4" LOCK
37 STEAM HEAD {DISPERSION HEAD (NOT SHOWN)
38 PLACARD SAFETY (NOT SHOWN)
39 LABEL WIRE DIAGRAM
40 FUSES 100 MA TIME DELAY
41 FUSES 1A NON TIME DELAY
43 STANDOFF  |STAND OFF
44 CABLE SLAVE CONTROL CABLE (NOT SHOWN)

4211-145

07-21-10

o Forassistance or parts ordering, please
contact your local AMEREC Dealer or
AMEREC at 1-800-331-0349. Please help
us to serve you better by:

1. Identifying the problem by using the -
troubleshooting guide in this manual.

2. Read Number 12, the UL Ratings La-
bel, to obtain your unit's model and code
number.

3. When ordering parts, please provide
the number, description and quantity
needed. When ordering wires or wire
assemblies, please describe the wires by
color, location and / or their connection
points.

4. Do not return any material to

AMEREC without first contacting
AMERECfora Return Authorization Num-
ber. Freight must be prepaid to AMEREC.




amerec AK 17, 20, 30, 3K20, 3K24, 3K28 & 3K36

Ngom - e by g7 System Installation and Service Instructions Page 24

2 ELEMENT SINGLE PHASE STEAM GENERATOR WIRING DIAGRAM

e ——

=2 I — (OPTIONAL)
P - AN K008
(P—— - AN RFHUB
- S \ {oPTIONAL) S, -3 L )
\
~, = [ Sesiirier S NN /
“i.. " ',' I Pag g
. - s ” 1 {

° /::/ D 3 @o
¥4

e e 2 o

{
i
i ®
" ONOFT TEMP CONTROL
NOTEB:~ ONJOFF CONTROL (DS NOT USED WITH ANY OTHER CONTROL AND IS FOR STAND ALONE ONIOFF J 30 MINUTE TINER
OPERATION WITHOUT TEMPERATURE CONTROL ONLY. B [ m—]
- TEMPERATURE CONTROLLED OPERATION REQUIRES A K200 SYSTEM OR ONE ROOM TEMPERATURE . |
SENSOR(D OR ONE DIGITAL TIME AND TEMP CONTROL (3 WITH AN INTEGRAL TEMERATURE SENSOR. 'y o BO®E
0
~ TEMPERATURE CONTROLLED GPERATION WITHOUT A K200i REQUIRES GNE ONJOFF TEMP CONTRDL @ STEAM GENERATOR ormovn (@ @D
ANDVOR ONE OR TWO DIGITAL TIME AND TEMP CONTROLS (D(D A COMBINATION OF ONE TO THREE (OPTION) SECOND CONTROL
CONTROLS MAY BE CONNECTED AS SHOWN. DIGITAL TIME AND TEMP PRIMARY CONTROL
DIGITAL TIME AND TEMP

GANG CONTROLLED STEAM GENERATOR WIRING DIAGRAM '
AUTO-DRAIN '
VALVE
(0PTION)

CHASSIS
[®_I®] Grotmn

4211-145  07-21-10




damnerec

AK 17, 20, 30, 3K20, 3K24, 3K28 & 3K36
System Installation and Service Instructions

Page 25

3 ELEMENT THREE PHASE STEAM GENERATOR WIRING DIAGRAM

steam » the healthy escape
AUTO-DRAN

VALVE

ot TS

o Iﬁ[@o

4

NOTES: ONJOFF CONTROL QIS NOT USED WITH ANY OTHER CONTROL AND IS FOR STAND ALONE ONOFF
OPERATION WITHOUT TEMPERATURE CONTROL ONLY.

e
= TEMPERATURE CONTROLLED OPERATION REQUIRES A K200 SYSTEM OR ONE ROOM TEMPERATURE MDDUL;E_ CABLE
SENSOR (B OR ONE DIGITAL TIME AND TEMP CONTROL (P WITH AN INTEGRAL TEMERATURE SENSOR. TO THIRD

~ TEMPERATURE CONTROLLED OPERATION WITHOUT A K200f REQUIRES ONE ONOFF TEMP CONTROL @
ANDIOR ONE OR TWO DIGITAL TIME AND TEMP CONTROLS @@ A COMBEINATION OF ONE TO THREE
CONTROLS MAY BE CONNECTED AS SHOWN.

GANG CONTROLLED STEAM GENERATOR WIRING DIAGRAM

VALVE

{OFTION)

PRIMARY CONTROL
DIGITAL TIME AND TEMP

m GROUNIg

4211-145  07-21-10




erec

AK 17, 20, 30, 3K20, 3K24, 3K28 & 3K36
System Installation and Service Instructions

Page 26

3 ELEMENT SINGLE PHASE STEAM GENERATOR WIRING DIAGRAM

NOTES= ONIOFF CONTROL @IS NOT USED WITH ANY OTHER CONTROL AND IS FOR STAND ALONE ONIOFF J
OPERATION WITHOUT TEMPERATURE CONTROL ONLY. B /
~ TEMPERATURE CONTROLLED OPERATION RECKIIRES A KZ00I SYSTEM OR ONE ROOM TEMPERATURE B 1) o A
SENSOR(® DR ONE DIGITAL TIME AND TEMP CONTROL (D WITH AN INTEGRAL TEMERATURE SENSOR. L o
~ TEMPERATURE OPERATION WITHOUT A K200 REQUIRES ONE DN/OFF TEMP CONTROL @ 5'5”('0 o

CONTROLLED
ANINOR ONE OR TWO DIGITAL TIME AND TEMP CONTROLS (D@ A COMBINATION OF ONE YO THREE
EHOWN.

CONTROLE MAY BE CONNECTED AS

280V BRANCH CIRGUIT § 240V BRANCH CIRCUTT 2
s0A

{

THIS ETEAM GENERATOR OPERATES i
ON TWO SEPARATE BRANCH CIRCUITE "
i

BUTH CIRCUITE BEFORE SERVICINGE

GANG CONTROLLED STEAM GENERATOR WIRING DIAGRAM

4211-145  07-21-10

[o]

WHITE

R L

H o

L o {
BLUE ‘

an oo
MODULAR CABLE
TO MASTER STEAM
GENERATOR

THIS STEAM GENERATOR OPERATES
‘ON TWO BEPARATE BRANCH L1}
DISCONNEDT BOTH CIRCUITS BEFORE BERVICNG!




